A3 0] F g R

A3 Problem Solving

BEER

A3#E (A3 Report) R—MBIFHASTFEINGE, BEBERERE, 2. REEE. UEATITIIESE
E—Eﬁké’\]ASZEEJ:o

A3RER—FMRIBE RS FE BRI EAREL . 2T, HIERBITIH R BIE —KASH R L RIA MK, H R EFIEK
EER, WHSASEEABHE ZEA.

. | S
1%15'-&&1
1 %EEATMANASEAER, EAMRSE B | &S0k TEh B R

I ABAREMESH%

BEEXR 3 ENNE

TtV EHEE ARAEBRIEAR. £7 (HE ) HELHE
CEFRBEE. AKX AR IRM. REEET
Bl ZRRREIRNE

IRIERLN:

. A3EIR
—. ABITRIBTER (51-5%)
B—F. [EEHER
BIH. BTG
B=F. BHRERE
BOF. REAREDT
BHL: HEEW
. A3, B, REBMER (586-85 )
BARL. KHHE
FLS RUIENER
BN\D . FRELNRIERE D=
m. A3RZ

23



